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QUESTION 1

Click the Exhibit button. 

A trigger was created as shown in the exhibit. 

The UPDATE statement shown below is executed. UPDATE dept SETsales_id = \\'300\\' WHERE sales_id = \\'200\\' 

How many row(s) are updated in the EMPLOYEE table? 

A. 0 

B. 1 

C. 2 

D. 3 

Correct Answer: B 
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QUESTION 2

Which CREATE TRIGGER statement is valid? 

A. CREATE TRIGGER test1 NO CASCADE AFTER INSERT ON employee REFERENCING NEW AS n FOR EACH
ROW MODE DB2SQL WHEN (n.bonus ISNULL) SET n.salary = n.salary + 2000 

B. CREATE TRIGGER test1 NO CASCADE BEFORE INSERT ON employee REFERENCING NEW AS n FOR EACH
ROW MODE DB2SQL WHEN (n.bonus IS NULL) SET n.salary = n.salary + 2000 

C. CREATE TRIGGER test1 AFTER DELETE ON employee REFERENCING OLD_TABLE AS oldemployee FOR
EACH STATEMENT MODE DB2SQL DELETE FROM staff WHERE id IN (SELECT empno FROM oldemployee) 

D. CREATE TRIGGER test1 NO CASCASE BEFORE DELETE ON employee FOR EACH STATEMENT MODE
DB2SQL DELETE FROM staff WHERE id IN (SELECT empnoFROM oldemployee) 

Correct Answer: B 

 

 

QUESTION 3

Which procedure demonstrates the correct use of dynamic SQL? 

A. CREATE PROCEDURE update_count1 (IN new_count INTEGER, IN item_code INTEGER) BEGIN DECLARE
v_dynSQL VARCHAR(200); SET v_dynSQL = \\'UPDATE stock SET quantity_on_hand=? WHERE item_number=?\\';
PREPARE v_stmt1 FROM v_dynSQL; EXECUTE v_stmt1 USING new_count, item_code; END 

B. CREATE PROCEDURE update_count2 (IN tab_name VARCHAR(128), IN new_count INTEGER, IN item_code
INTEGER) BEGIN DECLARE v_dynSQL VARCHAR(200); SET v_dynSQL = \\'UPDATE ? SET quantity_on_hand=?
WHERE item_number=?\\'; PREPARE v_stmt1 FROM v_dynSQL; EXECUTE v_stmt1 USING tab_name, new_count,
item_code; END 

C. CREATE PROCEDURE update_count4 (IN tab_name VARCHAR(128), IN col_name1 VARCHAR(128), IN
col_name2 VARCHAR(128), IN new_count INTEGER, IN item_code INTEGER) BEGIN DECLARE v_dynSQL
VARCHAR(200); SET v_dynSQL = \\'UPDATE ? SET ?=? WHERE ?=?\\'; PREPARE v_stmt1 FROM v_dynSQL;
EXECUTE v_stmt1 USING tab_name, col_name1,new_count, col_name2, item_code; END 

D. CREATE PROCEDURE update_count5 (IN new_count INTEGER, IN item_code INTEGER) BEGIN DECLARE
v_dynSQL VARCHAR(200); DECLARE v_col_name VARCHAR(128); SET v_col_name = \\'item_number\\'; SET
v_dynSQL = \\'UPDATE stock SETquantity_on_hand=? WHERE ?=?\\'; PREPARE v_stmt1 FROM v_dynSQL;
EXECUTE v_stmt1 USING new_count, v_col_name, item_code; END 

Correct Answer: A 

 

 

QUESTION 4

Which statement is permitted within a scalar user-defined function body? 

A. COMMIT 
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B. INSERT 

C. SIGNAL 

D. LOOP 

Correct Answer: C 

 

 

QUESTION 5

Which statement will let you use the result set from the nested procedure CALLEE? 

A. ASSOCIATE RESULT SET LOCATOR( loc1) WITH PROCEDURE callee; 

B. BIND RESULT SET WITH PARAMETERS FOR PROCEDUREcallee; 

C. INSERT RESULT SET FROM callee INTO CURSOR c1; 

D. SELECT * FROM callee; 

Correct Answer: A 
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